SaamirA2 Q3 Benchmark Sheet Template - Prediction 1 (Balanced)

Savings/ Investment 10%	nt Accounts	15.99%	Loans/ Debt 3.76%	\$1,000						Expens	ies		Incon	ne and Uses				Spending Check and Money Left										
	Other Savings	V					Income to				Expenses Paid By				ncome to													
ings TD/CD ance Balance	Investmer	nt Credit Card Balance	Student Loan Balance	Other Loan Balance	Income to Grocerys	Entertainme nt	Rent/ In Utilities G	Income to Sas Money	Income to Clothes	Total Expenses	Credit Card	Income	Income After		Student Loans	Income to Savings	Spend Check	Cash Out of Savi Total Amount of M	Money Left	Mor	nth	Savings balancer Student L	oan Bala	nce				
00.00		\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$0.00	\$0.00	\$100.00	\$200.00	\$20.00	\$960.80	\$780.80	\$20.00	\$0.00	\$10.00	\$30.00	\$0	\$750.80		0	\$2,000.00	\$0.00					
10.34		\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$0.00	\$0.00	\$100.00	\$200.00	\$10.00	\$960.80	\$770.80	\$10.00	\$0.00	\$10.00	\$20.00	\$0	\$750.80		1	\$2,010.34	\$0.00			ince vs Stude	nt Loan	
20.67		\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$0.00	\$0.00	\$100.00	\$200.00	\$10.00	\$960.80		\$10.00	\$0.00		\$20.00	\$0	\$750.80		2	\$2,020.67	\$0.00		Balance			
31.01		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$10.00	\$20.00	\$0	\$180.00		3	\$2,031.01	\$0.00	\$160,000.00				-
41.35 61.69		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00		4	\$2,041.35 \$2,061.69	\$0.00					
82 04		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		5	\$2,082.04	\$0.00	\$120,000.00			١.	
02.39		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		7	\$2,102.39	\$0.00					
22.74		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		8	\$2,122.74	\$0.00	\$80,000.00				
43.10		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		9	\$2,143.10	\$0.00	\$80,000.00				
63.46		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		10	\$2,163.46	\$0.00					
83.83		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		11	\$2,183.83	\$0.00	\$40,000.00				
04.19 24.56		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00		12		\$0.00					
24.56 44.94		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		13		\$0.00	\$0.00				4
65.32		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		15	\$2,265.32	\$0.00		0 25	50 7	5 100	
85.70		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		16	\$2,285.70	\$0.00			Month		
06.08		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		17		\$0.00					
26.47		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		18	\$2,326.47	\$0.00					
46.86		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		19		\$0.00					
67.25 87.65		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00		20	\$2,367.25 \$2,387.65	\$0.00					
87.65 08.05		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00 \$50.00	\$0.00	\$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00	\$200.00 \$200.00	\$10.00 \$10.00	\$0.00	\$20.00	\$30.00 \$30.00	\$0 \$0	\$170.00 \$170.00		21	\$2,387.65 \$2,408.05	\$0.00					
28.46		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		23	\$2,428.46	\$0.00					
48.87		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		24	\$2,448.87	\$0.00					
69.28		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		25		\$0.00					
89.69		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		26		\$0.00					
10.11		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		27	V=10	\$0.00					
30.53 50.96		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00	\$0.00 \$0.00	\$20.00 \$20.00	\$30.00 \$30.00	\$0	\$170.00 \$170.00		28 29		\$0.00					
71.39		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00 \$50.00	\$0.00	\$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00	V-00000	\$10.00 \$10.00	\$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00		29	\$2,550.96 \$2,571.39	\$0.00					
91.82		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		30	\$2,571.39	\$0.00					
12.25		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		32	\$2,612.25	\$0.00					
32.69		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		33	\$2,632.69	\$0.00					
53.13		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		34	\$2,653.13	\$0.00					
73.58		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		35	\$2,673.58	\$0.00					
94.03		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		36	\$2,694.03	\$0.00					
14.48		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00	\$0.00 \$0.00	\$20.00 \$20.00	\$30.00 \$30.00	\$0	\$170.00 \$170.00		37	\$2,714.48 \$2,734.94	\$0.00					
55.40		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		30	\$2,755.40	\$0.00					
75.86		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		40	\$2,775.86	\$0.00					
96.32		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		41	\$2,796.32	\$0.00					
16.79		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		42		\$0.00					
37.27		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		43		\$0.00					
57.74 78.22		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00	\$0.00 \$0.00	\$20.00 \$20.00	\$30.00 \$30.00	\$0	\$170.00 \$170.00		44 45	\$2,857.74 \$2,878.22	\$0.00					
98.71		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		45	\$2,898.71	\$0.00					
19.19		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		47	\$2,919.19	\$0.00					
39.68		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		48	\$2,939.68	\$0.00					
60.18		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		49	V=,000	\$0.00					
80.67		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		50	\$2,980.67	\$0.00					
01.17		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	V-00000	\$10.00	\$0.00		\$30.00	\$0	\$170.00		51	\$3,001.17	\$0.00					
21.68 42.18		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00	\$0.00 \$0.00	\$20.00 \$20.00	\$30.00 \$30.00	\$0	\$170.00 \$170.00		52	\$3,021.68 \$3,042.18	\$0.00 \$0.00					
42.18 62.69		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00 \$50.00	\$0.00	\$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00	\$20.00 \$20.00	\$30.00	\$0	\$170.00 \$170.00		53 54	\$3,042.18 \$3.062.69	\$0.00					
83.21		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		55		\$0.00					
03.72		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		56		\$0.00					
24.24		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		57		\$0.00					
44.77		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	V=00.00	\$10.00	\$0.00		\$30.00	\$0	\$170.00		58	\$3,144.77	\$0.00					
65.30 85.83		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00	\$0.00 \$0.00	\$20.00 \$20.00	\$30.00 \$30.00	\$0	\$170.00 \$170.00		59	\$3,165.30 \$3,185.83	\$0.00					
85.83 06.36		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00 \$50.00	\$0.00	\$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00	\$0.00	\$20.00 \$20.00	\$30.00 \$30.00	\$0	\$170.00 \$170.00		60	\$3,185.83 \$3,206.36	\$0.00					
26.90		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		62		\$0.00					
47.44		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		63		\$0.00					
67.98		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		64	\$3,267.98	\$0.00					
88.53		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		65	***************************************	\$0.00					
09.08		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00		\$30.00	\$0	\$170.00		66	\$3,309.08	\$0.00					
29.64		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00 \$0.00	\$20.00	\$30.00	\$0	\$170.00		67	\$3,329.64	\$0.00					
70.76		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00	\$0.00 \$0.00	\$20.00 \$20.00	\$30.00 \$30.00	\$0	\$170.00 \$170.00		68 en	\$3,350.20 \$3,370.76	\$0.00 \$0.00					
91.32		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		70		\$0.00					
11.89		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		71		\$0.00					
32.46		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		72		\$0.00					
53.04		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	V-00000	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		73		\$0.00					
73.62		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		74		\$0.00					
94.20 14.79		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00	\$0.00 \$0.00	\$20.00 \$20.00	\$30.00 \$30.00	\$0	\$170.00 \$170.00		75	\$3,494.20 \$3,514.79	\$0.00					
35.38		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00 \$50.00	\$0.00	\$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00		76 77		\$0.00					
35.38 55.97		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00 \$50.00	\$0.00	\$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00		77	**,*****	\$0.00					
76.56		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		79		\$0.00					
97.16		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		80	\$3,597.16	\$0.00					
17.77		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00		81	\$3,617.77	\$0.00					
38.37		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		82	\$3,638.37	\$0.00					
58.98		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		83	\$3,658.98	\$0.00					
79.60		\$0.00		\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		84	\$3,679.60	\$0.00					
00.21		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00		\$290.00		\$10.00	\$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00		85 86	401.00.0.	\$0.00					
20.83		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00		86	\$3,720.83	φU.UU					

SaamirA2 Q3 Benchmark Sheet Template - Prediction 1 (Balanced)

	\$3,741.46	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	87	\$3,741.46	\$0.00	
88	\$3,762.08	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	88	\$3,762.08	\$0.00	
89	\$3,782.71	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	89	\$3,782.71	\$0.00	
90	\$3,803.35	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	90	\$3,803.35	\$0.00	
91	\$3,823.98	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	91	\$3,823.98	\$0.00	
92	\$3,844.62	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	92	\$3,844.62	\$0.00	
93	\$3,865.27	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	93	\$3,865.27	\$0.00	
94	\$3,885.92	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	94	\$3,885.92	\$0.00	
95	\$3,906.57	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	95	\$3,906.57	\$0.00	
96	\$3,927.22	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	96	\$3,927.22	\$0.00	
97	\$3,947.88	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	97	\$3,947.88	\$0.00	
98	\$3,968.54	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	98	\$3,968.54	\$0.00	
99	\$3,989.21	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	99	\$3,989.21	\$0.00	
100		\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	100	\$4,009.87	\$0.00	
101	\$3,680.49	\$0.00 \$0.00	\$0.00	\$0.00	\$25.00	\$300.00	\$0.00	\$25.00	\$350.00		\$640.00	\$300.00	\$10.00	\$0.00	\$0.00	\$10.00	\$350	\$290.00	101	\$3,680.49	\$0.00	
102	\$3,681.10	\$0.00 \$120,000.00	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00		5,515.50	\$5,190.50	\$0.00	\$1,000.00	\$20.00	\$1,020.00	\$0	\$4,170.50	102	\$3,681.10	\$120,000.00	
103	\$3,701.72	\$0.00 \$114,525.60	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00		3,515.50	\$5,190.50	\$0.00	\$1,000.00	\$20.00	\$1,020.00	\$0	\$4,170.50	103	\$3,701.72	\$114,525.60	
104	\$3,722.34	\$0.00 \$109,257.04	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	3,515.50	\$5,190.50	\$0.00	\$1,000.00	\$20.00	\$1,020.00	\$0	\$4,170.50	104	\$3,722.34	\$109,257.04	
105	\$3,742.96	\$0.00 \$104,186.57	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	3,515.50	\$5,190.50	\$0.00	\$1,000.00	\$20.00	\$1,020.00	\$0	\$4,170.50	105	\$3,742.96	\$104,186.57	
106	\$3,763.59	\$0.00 \$99,306.76	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	3,515.50	\$5,190.50	\$0.00	\$1,000.00	\$20.00	\$1,020.00	\$0	\$4,170.50	106	\$3,763.59	\$99,306.76	
107	\$3,784.22	\$0.00 \$98,614.79	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	3,515.50	\$5,190.50	\$0.00	\$1,000.00	\$20.00	\$1,020.00	\$0	\$4,170.50	107	\$3,784.22	\$98,614.79	
108	\$3,804.85	\$0.00 \$97,920.65	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	3,515.50	\$5,190.50	\$0.00	\$1,000.00	\$20.00	\$1,020.00	\$0	\$4,170.50	108	\$3,804.85	\$97,920.65	
109	\$3.825.49	\$0.00 \$97,224.33	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	3,515.50	\$5,190,50	\$0.00	\$1,000.00	\$20.00	\$1.020.00	\$0	\$4,170.50	109	\$3.825.49	\$97.224.33	
110	\$3.846.13	\$0.00 \$96,525.83	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	so on \$6	3,515.50	\$5,190,50	\$0.00	\$1,000.00	\$20.00	\$1.020.00	\$0	\$4,170.50	110	\$3.846.13	\$96,525.83	
111	\$3.866.78	\$0.00 \$95.825.15	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	so on \$6	3,515.50	\$5,190,50	\$0.00	\$1,000.00	\$20.00	\$1.020.00	\$0	\$4,170.50	111	\$3.866.78	\$95.825.15	
	\$3.887.42	\$0.00 \$95,122.27	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00		\$1,325.00			\$5,190.50		\$1,000.00	\$20.00	\$1,020.00	\$0	\$4,170.50	112	\$3.887.42	\$95.122.27	
113	\$3,908.08	\$0.00 \$94.417.18	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00			\$5,190,50	\$0.00	\$1,000.00	\$20.00	\$1.020.00	\$O	\$4,170.50	113	\$3.908.08	\$94.417.18	
	\$3,928.73	\$0.00 \$93,709.89	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00		\$1,325.00			\$5,190.50		\$1,000.00	\$20.00	\$1,020.00	\$0	\$4,170.50	114	\$3,928.73	\$93,709.89	
	\$3,949.39	\$0.00 \$93,000.38	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00		\$1,325.00		3,515.50			\$1,000.00	\$20.00	\$1,020.00	\$0	\$4,170.50	115	\$3,949.39	\$93,000.38	
	\$3,970.05	\$0.00 \$92,288.65	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00		\$1,325.00					\$1,000.00	\$20.00	\$1,020.00	\$0	\$4,170.50	116	\$3,970.05	\$92,288.65	
	\$3,990.71	\$0.00 \$91,574.69	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00		\$1,325.00		5,515.50	\$5,190.50		\$1,000.00	\$20.00	\$1,020.00	\$0	\$4,170.50	117	\$3,990.71	\$91,574.69	
	\$4,011.38	\$0.00 \$90,858.49	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00		3,515.50	\$5,190.50	\$0.00	\$1,000.00	\$20.00	\$1,020.00	\$0	\$4,170.50	118	\$4,011.38	\$90,858.49	
119	\$4,032.05	\$0.00 \$90,140.04	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00		3,515.50	\$5,190.50	\$0.00	\$1,000.00	\$20.00	\$1,020.00	\$0	\$4,170.50	119	\$4,032.05	\$90,140.04	
120	\$4,052.73	\$0.00 \$89,419.35	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	3,515.50	\$5,190.50	\$0.00	\$1,000.00	\$20.00	\$1,020.00	\$0	\$4,170.50	120	\$4,052.73	\$89,419.35	

SaamirA2 Q3 Benchmark Sheet Template - Prediction 2 (Max Savingss)

vings/ Investment %	Accounts	15.99%	Loans/ Debt 3.76%	\$1,000						Expen	oct		income	and Uses				Spending Check and Money Left									
	Other Savings/						Income to				Expenses Paid By			come to In	ncome to												
gs TD/CD ice Balance	Investment Balance	Credit Card S Balance	Student Loan Balance	Other Loan Balance	Income to Grocerys	Entertainme nt	Rent/ Utilities	Income to Gas Money	Income to Clothes	Total Expenses	Credit Card	Income	Income After C Expenses		Student I Loans	Income to Savings	Spend Check (Cash Out of Savi Total Amount of	Money Left	Mo	inth	Savings Balance Student Lo	oan Bala	nce			
0.00		\$0.00	\$0.00	\$0.00	\$0.00			\$0.00	\$100.00	\$200.00		\$960.80		\$20.00		\$580.80	\$600.80	\$0	\$180.00		0		\$0.00		Caulana Bala	ance and Stude	
1.23		\$0.00 \$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$0.00	\$0.00 \$0.00	\$100.00 \$100.00	\$200.00 \$200.00	\$10.00 \$10.00	\$960.80		\$10.00	\$0.00 \$0.00	\$580.80	\$590.80 \$590.80	\$0	\$180.00 \$180.00		1		\$0.00		Savings Baia Balance	nce and Stude	ent Loan
2.56 3.98		\$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$100.00 \$50.00	\$0.00 \$0.00	\$0.00	\$100.00 \$50.00	\$200.00	\$10.00	\$960.80 \$290.00		\$10.00 \$10.00	\$0.00	\$580.80 \$100.00	\$590.80	\$0	\$180.00		3		\$0.00	\$160,000.0	0		
4.62		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		4	\$3,844.62	\$0.00				
5.28		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		5	\$3,945.28	\$0.00		.		
5.95		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		6		\$0.00	\$120,000.0	0		N
6.64 7.35		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00 \$50.00		\$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00		\$10.00 \$10.00	\$0.00	\$100.00	\$110.00 \$110.00	\$0	\$90.00		7		\$0.00				
7.35 R 08		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		\$290.00		\$10.00			\$110.00	\$0	\$90.00			¥1,9=11100	\$0.00	\$80,000.0	0		<u> </u>
8.82		\$0.00	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00		\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		10		\$0.00				/
9.58		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		11	\$4,549.58	\$0.00	\$40,000.0	0		
0.35		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		12		\$0.00				/
1.14		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00		\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00		\$100.00 \$100.00	\$110.00 \$110.00	\$0	\$90.00 \$90.00		13		\$0.00	\$0.0			
2.78		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		15		\$0.00		0 25	50 75	100
3.62		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		16	\$5,053.62	\$0.00			Month	
4.48		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		17		\$0.00				
5.35 6.25		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00		\$10.00 \$10.00	\$0.00 \$0.00	\$100.00 \$100.00	\$110.00 \$110.00	\$0	\$90.00		18	\$5,255.35 \$5,356.25	\$0.00				
7.16		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00 \$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		19		\$0.00				
8.08		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		21		\$0.00				
9.02		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		22		\$0.00				
9.98		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		23		\$0.00				
0.96 1.95		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00	\$10.00 \$10.00	\$0.00 \$0.00	\$100.00 \$100.00	\$110.00 \$110.00	\$0 \$0	\$90.00 \$90.00		24	\$5,860.96 \$5,961.95	\$0.00				
2.96		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		26		\$0.00				
3.99		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		27	\$6,163.99	\$0.00				
5.04		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		28		\$0.00				
6.10 7.17		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		29	**,******	\$0.00				
7.17 B.27		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00	\$100.00 \$100.00	\$110.00 \$110.00	\$0	\$90.00		30		\$0.00				
9.38		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		32		\$0.00				
0.51		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		33	\$6,770.51	\$0.00				
1.65		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		34		\$0.00				
2.82		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00		\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00		\$100.00	\$110.00 \$110.00	\$0	\$90.00		35		\$0.00				
3.99 5.19		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00 \$50.00	\$0.00	\$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00		\$100.00	\$110.00 \$110.00	\$0	\$90.00		36		\$0.00				
6.40		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		38	\$7,276.40	\$0.00				
7.63		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		39		\$0.00				
8.88		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		40		\$0.00				
0.14		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00		\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00		\$10.00 \$10.00		\$100.00	\$110.00 \$110.00	\$0	\$90.00		41		\$0.00				
1.42 2.72		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00 \$0.00	\$100.00 \$100.00	\$110.00 \$110.00	\$0	\$90.00 \$90.00		42		\$0.00				
4.03		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		44	\$7,884.03	\$0.00				
5.36		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		45	\$7,985.36	\$0.00				
6.71		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		46		\$0.00				
8.07 9.46		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00		\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00	\$100.00 \$100.00	\$110.00 \$110.00	\$0	\$90.00		47		\$0.00				
9.46 0.85		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00 \$50.00		\$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00		\$100.00	\$110.00 \$110.00	\$0	\$90.00		48		\$0.00				
2.27		\$0.00	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		50		\$0.00				
3.70		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		51	ψ0,000.70	\$0.00				
5.15		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		52		\$0.00				
6.62 8.10		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00		\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00 \$0.00	\$100.00 \$100.00	\$110.00 \$110.00	\$0	\$90.00 \$90.00		53 54	401.00.00	\$0.00				
9.60		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		55		\$0.00				
1.12		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		56	\$9,101.12	\$0.00				
2.65		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		57		\$0.00				
4.20		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		58	\$9,304.20	\$0.00				
5.77 7.35		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00		\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00	\$100.00 \$100.00	\$110.00 \$110.00	\$0 \$0	\$90.00 \$90.00		59 en		\$0.00				
8.95		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		61		\$0.00				
0.57		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		62	\$9,710.57	\$0.00				
2.21		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		63		\$0.00				
3.86 5.53		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00 \$0.00	\$100.00 \$100.00	\$110.00 \$110.00	\$0	\$90.00 \$90.00		64	\$9,913.86 \$10,015.53	\$0.00				
5.53 7.21		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00	\$0.00 \$0.00	\$50.00 \$50.00		\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00	\$100.00 \$100.00	\$110.00 \$110.00	\$0	\$90.00		65		\$0.00				
8.92		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		67		\$0.00				
0.64		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		68	\$10,320.64	\$0.00				
2.37		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		69	4 . o.,	\$0.00				
4.13 5.90		\$0.00	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00 \$0.00	\$100.00 \$100.00	\$110.00 \$110.00	\$0	\$90.00 \$90.00		70		\$0.00				
7.68		\$0.00 \$0.00	\$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00	\$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00		\$100.00	\$110.00 \$110.00	\$0	\$90.00		71		\$0.00				
9.49		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		73		\$0.00				
1.31		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		74	\$10,931.31	\$0.00				
3.15		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		75		\$0.00				
5.00		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		76	,	\$0.00				
6.88 8.77		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00 \$0.00	\$100.00 \$100.00	\$110.00 \$110.00	\$0	\$90.00 \$90.00		77		\$0.00				
0.67		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		79		\$0.00				
2.60		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		80		\$0.00				
4.54		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		81		\$0.00				
6.49		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00		\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00		\$100.00	\$110.00	\$0	\$90.00		82		\$0.00				
8.47 0.46		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00		\$100.00 \$100.00	\$110.00 \$110.00	\$0 \$0	\$90.00 \$90.00		83		\$0.00				
2.47		\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00	\$100.00	\$110.00	\$0	\$90.00		85		\$0.00				
		\$0.00	40.00	40.00	QU.30	\$50.00		40.00	\$50.00					-10.00	VU.UU	\$100.00	\$1.0.00		400.00		00	J.12,002.77	+0.00				

SaamirA2 Q3 Benchmark Sheet Template - Prediction 2 (Max Savingss)

	010 050 51		00.00	00.00	050.00	00.00	00.00	050.00	0100.00	010.00		2000 00	010.00	00.00	0100.00	0440.00		200.00		*********		
	\$12,256.54	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		290.00	\$200.00	\$10.00		\$100.00	\$110.00	\$0	\$90.00	87	\$12,256.54	\$0.00	
	\$12,358.60	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		290.00	\$200.00	\$10.00		\$100.00	\$110.00	\$0	\$90.00	88	\$12,358.60	\$0.00	
	\$12,460.67	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		290.00	\$200.00	\$10.00		\$100.00	\$110.00	\$0	\$90.00	89	\$12,460.67	\$0.00	
	\$12,562.77	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		290.00	\$200.00	\$10.00		\$100.00	\$110.00	\$0	\$90.00	90	\$12,562.77	\$0.00	
	\$12,664.88	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		290.00	\$200.00	\$10.00		\$100.00	\$110.00	\$0	\$90.00	91	\$12,664.88	\$0.00	
	\$12,767.00	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		290.00	\$200.00	\$10.00		\$100.00	\$110.00	\$0	\$90.00	92	\$12,767.00	\$0.00	
	\$12,869.15	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		290.00	\$200.00	\$10.00		\$100.00	\$110.00	\$0	\$90.00	93	\$12,869.15	\$0.00	
	\$12,971.31	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		\$290.00	\$200.00	\$10.00		\$100.00	\$110.00	\$0	\$90.00	94	\$12,971.31	\$0.00	
	\$13,073.49	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		290.00	\$200.00	\$10.00		\$100.00	\$110.00	\$0	\$90.00	95	\$13,073.49	\$0.00	
	\$13,175.68	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		\$290.00	\$200.00	\$10.00		\$100.00	\$110.00	\$0	\$90.00	96	\$13,175.68	\$0.00	
	\$13,277.90	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		\$290.00	\$200.00 \$200.00	\$10.00		\$100.00	\$110.00	\$0	\$90.00	97	\$13,277.90	\$0.00	
	\$13,380.13 \$13,482.37	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00		\$290.00 \$290.00	\$200.00	\$10.00 \$10.00		\$100.00 \$100.00	\$110.00 \$110.00	\$0	\$90.00 \$90.00	98	\$13,380.13 \$13,482.37	\$0.00 \$0.00	
	\$13,584.64	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		\$290.00	\$200.00	\$10.00		\$100.00	\$110.00	\$0	\$90.00	100	\$13,462.37	\$0.00	
	\$13,336.86	\$0.00 \$0.00	\$0.00	\$0.00	\$25.00	\$300.00	\$0.00	\$25.00	\$350.00		640.00	\$300.00	\$10.00	\$0.00	\$0.00	\$10.00	\$350	\$290.00	100	\$13,336.86	\$0.00	
	\$13,339.08	\$0.00 \$120.000.00	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6.5		\$5.190.50		\$1.000.00		\$4.140.50	\$0	\$1.050.00	101	\$13,339.08	\$120.000.00	
	\$16,482.33								\$1,325.00	\$0.00 \$6,5		\$5,190.50		\$1,000.00							\$114.525.60	
		\$0.00 \$114,525.60	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00									\$4,190.50	\$0	\$1,000.00	103	\$16,482.33		
	\$19,676.11	\$0.00 \$109,257.04	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00		\$1,325.00	\$0.00 \$6,5		\$5,190.50		\$1,000.00		\$4,190.50	\$0	\$1,000.00	104	\$19,676.11	\$109,257.04	
	\$22,870.42	\$0.00 \$104,186.57	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00		\$1,325.00	\$0.00 \$6,5		\$5,190.50		\$1,000.00		\$4,190.50	\$0	\$1,000.00	105	\$22,870.42	\$104,186.57	
	\$26,065.26	\$0.00 \$99,306.76	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6,5			\$0.00	\$1,000.00	\$3,190.50	\$4,190.50	\$0	\$1,000.00	106	\$26,065.26	\$99,306.76	
107	\$29,260.64	\$0.00 \$98,614.79	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6,5		\$5,190.50	\$0.00	\$1,000.00	\$3,190.50	\$4,190.50	\$0	\$1,000.00	107	\$29,260.64	\$98,614.79	
108	\$32,456.55	\$0.00 \$97,920.65	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6,5		\$5,190.50	\$0.00	\$1,000.00	\$3,190.50	\$4,190.50	\$0	\$1,000.00	108	\$32,456.55	\$97,920.65	
109	\$35,652.99	\$0.00 \$97,224.33	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6,5	515.50	\$5,190.50	\$0.00	\$1,000.00	\$3,190.50	\$4,190.50	\$0	\$1,000.00	109	\$35,652.99	\$97,224.33	
110	\$38,849.96	\$0.00 \$96,525.83	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6,5	515.50	\$5,190.50	\$0.00	\$1,000.00	\$3,190.50	\$4,190.50	\$0	\$1,000.00	110	\$38,849.96	\$96,525.83	
111	\$42,047.47	\$0.00 \$95,825.15	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6,5	515.50	\$5,190.50	\$0.00	\$1,000.00	\$3,190.50	\$4,190.50	\$0	\$1,000.00	111	\$42,047.47	\$95,825.15	
112	\$45,245.51	\$0.00 \$95,122.27	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6,5	515.50	\$5,190.50	\$0.00	\$1,000.00	\$3,190.50	\$4,190.50	\$0	\$1,000.00	112	\$45,245.51	\$95,122.27	
113	\$48,444.08	\$0.00 \$94,417.18	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6,5	515.50	\$5,190,50	\$0.00	\$1,000.00	\$3,190.50	\$4,190.50	\$0	\$1,000.00	113	\$48,444,08	\$94.417.18	
114	\$51,643,19	\$0.00 \$93,709.89	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6,5		\$5,190,50	\$0.00	\$1,000.00	\$3 190 50	\$4,190.50	\$0	\$1,000.00	114	\$51,643,19	\$93,709.89	
	\$54.842.82	\$0.00 \$93.000.38	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00		\$1,325.00	\$0.00 \$6.5		\$5,190.50		\$1,000.00		\$4,190.50	\$0	\$1,000.00	115	\$54.842.82	\$93,000.38	
	\$58.043.00	\$0.00 \$93,000.55	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00		\$1,325.00	\$0.00 \$6,5		\$5,190.50		\$1,000.00		\$4,190.50	\$0	\$1,000.00	116	\$58.043.00	\$92,288.65	
	\$61,243.70	\$0.00 \$92,288.69	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00		\$0.00 \$6,5		\$5,190.50		\$1,000.00		\$4,190.50	\$0	\$1,000.00	117	\$61,243.70	\$92,266.65	
	\$64,444.94	\$0.00 \$90,858.49	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00		\$1,325.00	\$0.00 \$6,5		\$5,190.50		\$1,000.00		\$4,190.50	\$0	\$1,000.00	118	\$64,444.94	\$90,858.49	
	\$67,646.71	\$0.00 \$90,140.04	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6,5		\$5,190.50		\$1,000.00		\$4,190.50	\$0	\$1,000.00	119	\$67,646.71	\$90,140.04	
120	\$70,849.02	\$0.00 \$89,419.35	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6,5	515.50	\$5,190.50	\$0.00	\$1,000.00	\$3,190.50	\$4,190.50	\$0	\$1,000.00	120	\$70,849.02	\$89,419.35	

SaamirA2 Q3 Benchmark Sheet Template - Prediction 3 (Pay off student loans

	Investment	Accounts	45.000	Loans/ Debt							Expen	ses		Inco	me and Uses	8			Spending Check and Money Left								
20%		Other	15.99%	3.76%	\$1,000							Expenses															
rings	TD/CD	Savings/ Investment	Credit Card S		Other Loan	Income to	Income to Entertainme	Income to Rent/	Income to	Income to	Total	Paid By Credit	In	ncome After	Income to Credit Cards	Income to Student Inc	ome to										
ance	Balance	Balance	Balance \$0.00	Balance \$0.00	Balance \$0.00	Grocerys \$0.00	nt \$100.00	Utilities \$0.00	Gas Money \$0.00	Clothes \$100.00	Expenses \$200.00	Card \$20.00	Income \$960.80	Expenses \$780.80	Cards \$20.00	Loans S	avings 5	Spend Check \$320.00	Cash Out of Savings Total Amount of Money Left	Month	Savings Balance Stu 0 \$2,000.00	dent Loan Bala	ince				
300.38			\$0.00	\$0.00	\$0.00	\$0.00	\$100.00			\$100.00	\$200.00		\$960.80	\$770.80	\$10.00	\$0.00		\$320.00			1 \$2,300.38	\$0.00					
300.82			\$0.00	\$0.00	\$0.00	\$0.00	\$100.00	\$0.00		\$100.00	\$200.00	\$10.00	\$960.80	\$770.80	\$10.00		\$300.00	\$310.00			2 \$2,600.82	\$0.00		Savings Ba	alance and S	Student Loan B	Jalance
901.30			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00		\$50.00	\$100.00		\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			3 \$2,901.30	\$0.00	\$160,000.00				
911.79			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00 \$10.00	\$20.00 \$20.00			4 \$2,911.79 5 \$2,922.27	\$0.00 \$0.00					
32.76			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$10.00	\$20.00	\$0 \$180.00		6 \$2,932.76	\$0.00	\$120,000.00				
943.25			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			7 \$2,943.25	\$0.00					Λ
953.74			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00		\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			8 \$2,953.74	\$0.00	\$80,000.00				
964.24			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00		\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			9 \$2,964.24	\$0.00	****				
974.73 985.23			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00			\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00 \$10.00	\$20.00 \$20.00			10 \$2,974.73 11 \$2,985.23	\$0.00					
95.73			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			12 \$2,995.73	\$0.00 \$0.00	\$40,000.00				
006.23			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00		\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			13 \$3,006.23	\$0.00					
16.73			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			14 \$3,016.73	\$0.00	\$0.00	0 2	5 50	75	100
027.24			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00 \$10.00	\$20.00 \$20.00			15 \$3,027.24 16 \$3,037.74	\$0.00 \$0.00				Month	
148.25			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			17 \$3,048.25	\$0.00				aonin	
58.76			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			18 \$3,058.76	\$0.00					
069.27			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			19 \$3,069.27	\$0.00					
79.79			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			20 \$3,079.79	\$0.00					
100.82			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00			\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00 \$10.00	\$20.00 \$20.00			21 \$3,090.30 22 \$3.100.82	\$0.00 \$0.00					
111.34			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			23 \$3,111.34	\$0.00					
21.86			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$10.00	\$20.00	\$0 \$180.00		24 \$3,121.86	\$0.00					
132.38			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00		\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			25 \$3,132.38	\$0.00					
142.90			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00			\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00	\$20.00 \$20.00			26 \$3,142.90 27 \$3.153.43	\$0.00 \$0.00					
153.43			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00 \$50.00	\$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00	******	\$10.00 \$10.00	\$20.00 \$20.00			27 \$3,153.43 28 \$3,163.96	\$0.00 \$0.00					
74.48			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00		\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			29 \$3,174.48	\$0.00					
185.02			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$10.00	\$20.00	\$0 \$180.00		30 \$3,185.02	\$0.00					
195.55			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00		\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			31 \$3,195.55	\$0.00					
206.08			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00 \$10.00	\$20.00 \$20.00	\$0 \$180.00 \$0 \$180.00		32 \$3,206.08 33 \$3,216.62	\$0.00 \$0.00					
216.62			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00 \$50.00	\$0.00	\$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00	\$20.00 \$20.00	\$0 \$180.00 \$0 \$180.00		33 \$3,216.62 34 \$3,227.16	\$0.00					
237.70			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00		\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			35 \$3,237.70	\$0.00					
248.24			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			36 \$3,248.24	\$0.00					
258.78			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00		\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00	\$0 \$180.00		37 \$3,258.78	\$0.00					
269.32 279.87			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00 \$10.00	\$20.00 \$20.00			38 \$3,269.32 39 \$3,279.87	\$0.00 \$0.00					
290.42			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00		\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			40 \$3,290.42	\$0.00					
300.97			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00		\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			41 \$3,300.97	\$0.00					
311.52			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00		\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			42 \$3,311.52	\$0.00					
322.07			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			43 \$3,322.07	\$0.00					
332.63 343.19			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00			\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00 \$10.00	\$20.00 \$20.00			44 \$3,332.63 45 \$3,343.19	\$0.00 \$0.00					
353.75			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00		\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			46 \$3,353.75	\$0.00					
364.31			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$10.00	\$20.00	\$0 \$180.00		47 \$3,364.31	\$0.00					
374.87			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00		\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			48 \$3,374.87	\$0.00					
885.43 896.00			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00			\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00 \$10.00	\$20.00 \$20.00			49 \$3,385.43 50 \$3,396.00	\$0.00 \$0.00					
106.57			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00		\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			50 \$3,396.00	\$0.00					
17.14			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$10.00	\$20.00	\$0 \$180.00		52 \$3,417.14	\$0.00					
27.71			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			53 \$3,427.71	\$0.00					
138.28			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00			\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00 \$10.00	\$20.00 \$20.00			54 \$3,438.28 55 \$3,448.86	\$0.00 \$0.00					
148.86 159.43			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00 \$50.00	\$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00 \$10.00	\$20.00 \$20.00			55 \$3,448.86 56 \$3,459.43	\$0.00					
70.01			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$10.00	\$20.00	\$0 \$180.00		57 \$3,470.01	\$0.00					
80.59			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			58 \$3,480.59	\$0.00					
91.17			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00	******	\$10.00 \$10.00	\$20.00 \$20.00			59 \$3,491.17 60 \$3,501.76	\$0.00 \$0.00					
501.76			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00 \$50.00	\$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00 \$10.00	\$20.00 \$20.00			60 \$3,501.76 61 \$3,512.34	\$0.00					
522.93			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00		\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			62 \$3,522.93	\$0.00					
533.52			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$10.00	\$20.00			63 \$3,533.52	\$0.00					
544.11			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00		\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			64 \$3,544.11	\$0.00					
554.70 565.29			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00 \$10.00	\$20.00 \$20.00			65 \$3,554.70 66 \$3,565.29	\$0.00 \$0.00					
75.89			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00		\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			67 \$3,565.29	\$0.00					
86.49			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			68 \$3,586.49	\$0.00					
97.09			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			69 \$3,597.09	\$0.00					
07.69			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			70 \$3,607.69	\$0.00					
18.29 28.90			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00			\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00 \$10.00	\$20.00 \$20.00			71 \$3,618.29 72 \$3,628.90	\$0.00 \$0.00					
39.50			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			73 \$3,639.50	\$0.00					
50.11			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			74 \$3,650.11	\$0.00					
60.72			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			75 \$3,660.72	\$0.00					
371.33 381.95			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00			\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00 \$10.00	\$20.00 \$20.00			76 \$3,671.33 77 \$3,681.95	\$0.00 \$0.00					
92.56			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00 \$20.00			77 \$3,681.95 78 \$3,692.56	\$0.00					
703.18			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00		\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			79 \$3,703.18	\$0.00					
13.80			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			80 \$3,713.80	\$0.00					
24.42			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			81 \$3,724.42	\$0.00					
735.04			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00 \$50.00			\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00		\$10.00	\$20.00 \$20.00			82 \$3,735.04 83 \$3,745.66	\$0.00 \$0.00					
745.66 756.29			\$0.00	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00 \$50.00			\$50.00 \$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00 \$20.00			83 \$3,745.66 84 \$3,756.29	\$0.00					
66.92			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			85 \$3,766.92	\$0.00					
777.55			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			86 \$3,777.55	\$0.00					
788.18			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			87 \$3,788.18	\$0.00					
798.81 809.45			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00			\$50.00	\$100.00		\$290.00	\$200.00	\$10.00		\$10.00	\$20.00			88 \$3,798.81	\$0.00					
.45			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$10.00	\$20.00	\$0 \$180.00		89 \$3,809.45	\$0.00					

SaamirA2 Q3 Benchmark Sheet Template - Prediction 3 (Pay off student loans

90	\$3,820.08	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$10.00	\$20.00	\$0	\$180.00	90	\$3,820.08	\$0.00		
91	\$3,830.72	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$10.00	\$20.00	\$0	\$180.00	91	\$3,830.72	\$0.00		
92	\$3,841.36	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$10.00	\$20.00	\$0	\$180.00	92	\$3,841.36	\$0.00		
93	\$3,852.00	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$10.00	\$20.00	\$0	\$180.00	93	\$3,852.00	\$0.00		
94	\$3,862.65	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$10.00	\$20.00	\$0	\$180.00	94	\$3,862.65	\$0.00		
95	\$3,873.29	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$10.00	\$20.00	\$0	\$180.00	95	\$3,873.29	\$0.00		
96	\$3,883.94	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$10.00	\$20.00	\$0	\$180.00	96	\$3,883.94	\$0.00		
	\$3,894.59	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00	\$0	\$180.00	97	\$3,894.59	\$0.00		
	\$3,905.24	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00	\$0	\$180.00	98	\$3,905.24	\$0.00		
	\$3,915.89	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00		\$10.00	\$20.00	\$0	\$180.00	99	\$3,915.89	\$0.00		
	\$3,926.55	\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		\$290.00	\$200.00	\$10.00		\$10.00	\$20.00	\$0	\$180.00	100	\$3,926.55	\$0.00		
	\$3,587.14	\$0.00	\$0.00	\$0.00	\$0.00	\$25.00	\$300.00	\$0.00	\$25.00	\$350.00	\$10.00	\$640.00	\$300.00	\$10.00	\$0.00	\$0.00	\$10.00	\$350	\$290.00	101	\$3,587.14	\$0.00		
	\$3,587.74		120,000.00	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00		\$1,325.00			\$5,190.50		\$4,190.50	\$20.00	\$4,210.50	\$0	\$980.00	102	\$3,587.74	\$120,000.00		
	\$3,608.34		111,455.06	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00		\$1,325.00		,515.50			\$4,190.50	\$20.00	\$4,210.50	\$0	\$980.00	103	\$3,608.34	\$111,455.06		
	\$3,628.95		103,231.42	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00			\$5,190.50		\$4,190.50	\$20.00	\$4,210.50	\$0	\$980.00	104	\$3,628.95	\$103,231.42		
105	\$3,649.56	\$0.00	\$95,316.98	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	,515.50	\$5,190.50	\$0.00	\$4,190.50	\$20.00	\$4,210.50	\$0	\$980.00	105	\$3,649.56	\$95,316.98		
106	\$3,670.17	\$0.00	\$87,700.12	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	,515.50	\$5,190.50	\$0.00	\$4,190.50	\$20.00	\$4,210.50	\$0	\$980.00	106	\$3,670.17	\$87,700.12		
107	\$3,690.78	\$0.00	\$83,771.28	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	,515.50	\$5,190.50	\$0.00	\$4,190.50	\$20.00	\$4,210.50	\$0	\$980.00	107	\$3,690.78	\$83,771.28		
108	\$3,711.40	\$0.00	\$79,830.14	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	,515.50	\$5,190.50	\$0.00	\$4,190.50	\$20.00	\$4,210.50	\$0	\$980.00	108	\$3,711.40	\$79,830.14		
109	\$3,732.02	\$0.00	\$75,876.64	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	,515.50	\$5,190.50	\$0.00	\$4,190.50	\$20.00	\$4,210.50	\$0	\$980.00	109	\$3,732.02	\$75,876.64		
110	\$3,752.65	\$0.00	\$71,910.76	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	,515.50	\$5,190.50	\$0.00	\$4,190.50	\$20.00	\$4,210.50	\$0	\$980.00	110	\$3,752.65	\$71,910.76		
111	\$3,773.28	\$0.00	\$67,932.45	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	,515.50	\$5,190.50	\$0.00	\$4,190.50	\$20.00	\$4,210.50	\$0	\$980.00	111	\$3,773.28	\$67,932.45		
112	\$3,793.91	\$0.00	\$63,941.67	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	,515.50	\$5,190.50	\$0.00	\$4,190.50	\$20.00	\$4,210.50	\$0	\$980.00	112	\$3,793.91	\$63,941.67		
113	\$3,814.54	\$0.00	\$59,938.39	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	,515.50	\$5,190.50	\$0.00	\$4,190.50	\$20.00	\$4,210.50	\$0	\$980.00	113	\$3,814.54	\$59,938.39		
114	\$3,835.18	\$0.00	\$55,922.57	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6	,515.50	\$5,190.50	\$0.00	\$4,190.50	\$20.00	\$4,210.50	\$0	\$980.00	114	\$3,835.18	\$55,922.57		
115	\$3.855.83	\$0.00	\$51,894.16	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325,00	\$0.00 \$6	,515.50	\$5,190.50	\$0.00	\$4,190.50	\$20.00	\$4,210,50	\$0	\$980.00	115	\$3,855,83	\$51,894,16		
	\$3.876.47		\$47.853.14	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00		\$1,325.00		,515.50			\$4,190.50	\$20.00	\$4,210.50	\$0	\$980.00	116	\$3,876,47	\$47.853.14		
	\$3.897.12		\$43,799.45	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00	\$0.00 \$6		\$5,190.50			\$20.00	\$4,210.50	\$0	\$980.00	117	\$3,897,12	\$43,799.45		
	\$3.917.77		\$39.733.05	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	\$100.00	\$1,325.00		5.515.50			\$4,190.50	\$20.00	\$4,210.50	\$0	\$980.00	118	\$3,917.77	\$39.733.05		
	\$3.938.43		\$35.653.92	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00		\$1,325.00			\$5,190.50		\$4,190.50	\$20.00	\$4.210.50	\$0	\$980.00	119	\$3,938.43	\$35.653.92		
	\$3,959.09		\$31,562.01	\$0.00	\$100.00	\$200.00	\$825.00	\$100.00	4.00.00	\$1,325.00		5.515.50				\$20.00	\$4,210.50	90	\$980.00	120	\$3,959.09	\$31.562.01		
120	90,000.09	φυ.00	951,002.01	φ0.00	\$100.00	9200.00	9025.00	\$100.00	φ 100.00	φ1,020.00	30.00 30	,010.00	90,100.00	φ0.00	94,100.00	920.00	34,2 10.50	\$0	\$900.00	120	90,809.09	φ31,302.01		

SaamirA2 Q3 Benchmark Sheet Template - Prediction 4 (Big Baller)

Savings 0.20%	gs/ Invest	stment Accour		15.99%	Loans/ Debt 3.76%	\$1.000						Expen	ses		Inc	ome and Use	В		Spendin	g Check and M	loney Left							
		Ott- Savi	her		2.70%	\$1,000		Income to	Income to				Expenses Paid By			Income to	Income to											
Savings Balance	TD/C Balar	CD Invest	tment Cre	redit Card St Balance	tudent Loan Balance	Other Loan Balance	Income to Grocerys	Entertainme nt	Rent/ Utilities	Income to Gas Money	Income to Clothes	Total Expenses	Credit Card	Income	Income After Expenses	Credit Cards	Student Loans	Income to	pend Check Cash Ou	rt of Coul Total A	Amount of Manay Laft	Month	Savings Balance	Student Loan Balance				
\$2,000.00		lice bale	arice L	\$0.00	\$0.00	\$0.00	\$0.00	_	\$0.00		\$100.00	\$200.00					\$0.00		\$30.00	\$0	\$750.80	0	\$2,000.00	\$0.00				
\$2,010.34				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$100.00	\$200.00		\$960.80		\$10.00	\$0.00		\$20.00	\$0	\$750.80	1	\$2,010.34	\$0.00	Savings Bala	ance and Stu	ident Loan	
\$2,020.67				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00		\$0.00 \$0.00		\$100.00 \$50.00	\$200.00 \$100.00	\$10.00 \$10.00	\$960.80 \$290.00		\$10.00 \$10.00	\$0.00 \$0.00		\$20.00 \$20.00	\$0	\$750.80 \$180.00	2	\$2,020.67 \$2,031.01	\$0.00 \$0.00 \$160,000	Dalance			
\$2,031.01				\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	3	\$2,031.01	\$0.00				
\$2,061.69				\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00		\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	5	\$2,061.69	\$0.00				
\$2,082.04				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00		\$290.00			\$0.00		\$30.00	\$0	\$170.00	6	\$2,082.04	\$0.00 \$120,000	00		N	_
\$2,102.39 \$2,122.74				\$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00		\$0.00		\$50.00 \$50.00	\$100.00 \$100.00		\$290.00			\$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	7	\$2,102.39 \$2,122.74					
52,122.74 52 143 10				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00			\$0.00		\$30.00	\$0	\$170.00	8	\$2,122.74	\$0.00 \$80,000.	00			
2,163.46				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	10	\$2,163.46	\$0.00				
2,183.83				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	11	\$2,183.83	\$0.00 \$40,000	00			
2,204.19				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	12	\$2,204.19	\$0.00				
2,224.56				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00		\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00		\$290.00 \$290.00			\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	13	\$2,224.56 \$2,244.94	\$0.00 \$0.00 \$0.	00			_
2,265.32				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	15	\$2,265.32	\$0.00	0 25	50	75 100	
2,285.70				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00		\$290.00			\$0.00		\$30.00	\$0	\$170.00	16	\$2,285.70	\$0.00		Month		
,306.08				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	17	\$2,306.08	\$0.00				_
2,326.47				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	18	\$2,326.47 \$2,346.86	\$0.00 \$0.00				
2,346.86				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00			\$0.00		\$30.00 \$30.00	\$0	\$170.00	19	\$2,346.86	\$0.00				
2,387.65				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00		\$290.00			\$0.00		\$30.00	\$0	\$170.00	21	\$2,387.65					
,408.05				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	22	\$2,408.05	\$0.00				
,428.46 .448.87				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00		\$290.00			\$0.00		\$30.00	\$0	\$170.00	23	\$2,428.46	\$0.00				
448.87 469.28				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00	\$0.00 \$0.00	\$20.00 \$20.00	\$30.00 \$30.00	\$0	\$170.00 \$170.00	24 25	\$2,448.87 \$2,469.28	\$0.00 \$0.00				
,489.69				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00			\$0.00		\$30.00	\$0	\$170.00	26	\$2,469.28	\$0.00				
,510.11	1			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	27	\$2,510.11	\$0.00				
,530.53				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00		\$290.00			\$0.00		\$30.00	\$0	\$170.00	28	\$2,530.53	\$0.00				
,550.96 ,571.39				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	29	\$2,550.96	\$0.00 \$0.00				
,571.39 ,591.82				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00	\$200.00	\$10.00 \$10.00	\$0.00 \$0.00	\$20.00	\$30.00 \$30.00	\$0	\$170.00 \$170.00	30	\$2,571.39 \$2,591.82	\$0.00				
,612.25				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	32	\$2,591.82	\$0.00				
,632.69	9			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	33	\$2,632.69	\$0.00				
,653.13				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	34	\$2,653.13	\$0.00				
673.58				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00		\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00		\$10.00 \$10.00	\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	35	\$2,673.58 \$2.694.03	\$0.00 \$0.00				
.714.48				\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	37	\$2,094.03	\$0.00				
734.94				\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00		\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	38	\$2,734.94	\$0.00				
,755.40				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00		\$290.00			\$0.00		\$30.00	\$0	\$170.00	39	\$2,755.40	\$0.00				
2,775.86				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	40	\$2,775.86	\$0.00				
2,796.32				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00		\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00		\$10.00 \$10.00	\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	41	\$2,796.32 \$2.816.79	\$0.00 \$0.00				
2,837.27				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	43	\$2,837.27	\$0.00				
,857.74				\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	44	\$2,857.74	\$0.00				
2,878.22				\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	45	\$2,878.22	\$0.00				
,898.71 ,919.19				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00		\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00			\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	46 47	\$2,898.71 \$2,919.19	\$0.00 \$0.00				
2,919.19				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	47	\$2,919.19	\$0.00				
,960.18				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00		\$290.00			\$0.00		\$30.00	\$0	\$170.00	49	\$2,960.18	\$0.00				
,980.67				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	50	\$2,980.67	\$0.00				
,001.17				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00	\$0.00 \$0.00		\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00	51 52	\$3,001.17	\$0.00 \$0.00				
,021.68				\$0.00	\$0.00	\$0.00 \$0.00	\$0.00		\$0.00		\$50.00	\$100.00		\$290.00			\$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	52	\$3,021.68 \$3.042.18	\$0.00				
,062.69				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00		\$290.00			\$0.00		\$30.00	\$0	\$170.00	54	\$3,062.69	\$0.00				
,083.21	1			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	55	\$3,083.21	\$0.00				
,103.72				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	4	\$290.00			\$0.00		\$30.00	\$0	\$170.00	56	\$3,103.72	\$0.00				
,124.24 ,144.77				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	57	\$3,124.24 \$3,144.77	\$0.00 \$0.00				
.144.77				\$0.00	\$0.00	\$0.00	\$0.00				\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	58	\$3,144.77 \$3,165.30	\$0.00				
,185.83				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00			\$0.00		\$30.00	\$0	\$170.00	60	\$3,185.83	\$0.00				
,206.36	3			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	61	\$3,206.36	\$0.00				
226.90				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	62	\$3,226.90	\$0.00				
,247.44 ,267.98				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$50.00 \$50.00	\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00	\$200.00 \$200.00	\$10.00 \$10.00	\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	63 64	\$3,247.44 \$3,267.98	\$0.00 \$0.00				
,267.98				\$0.00	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00 \$50.00	\$0.00	\$0.00	\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	65	\$3,267.98 \$3,288.53	\$0.00				
,309.08				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	66	\$3,309.08	\$0.00				
,329.64	1			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00		\$0.00	\$20.00	\$30.00	\$0	\$170.00	67	\$3,329.64	\$0.00				
350.20 370.76				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00	\$0.00 \$0.00		\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00			\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	68	\$3,350.20 \$3,370.76	\$0.00 \$0.00				
370.76				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00	\$0.00 \$0.00		\$0.00 \$0.00		\$50.00 \$50.00	\$100.00	\$10.00 \$10.00	\$290.00			\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	69 70	\$3,370.76 \$3,391.32	\$0.00				
,411.89				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	71	\$3,411.89	\$0.00				
432.46				\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	72	\$3,432.46	\$0.00				
453.04				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	73	\$3,453.04	\$0.00				
473.62 494.20				\$0.00	\$0.00 \$0.00	\$0.00	\$0.00 \$0.00		\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00		\$290.00			\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	74	\$3,473.62 \$3,494.20	\$0.00 \$0.00				
,494.20 .514.79				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00	\$0.00 \$0.00		\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	75 76	\$3,494.20 \$3.514.79	\$0.00 \$0.00				
,535.38				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00		\$290.00			\$0.00		\$30.00	\$0	\$170.00	77	\$3,535.38	\$0.00				
,555.97	,			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	78	\$3,555.97	\$0.00				
,576.56				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00			\$0.00		\$30.00	\$0	\$170.00	79	\$3,576.56	\$0.00				
,597.16				\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00		\$0.00 \$0.00		\$50.00 \$50.00	\$100.00 \$100.00	\$10.00 \$10.00	\$290.00 \$290.00		\$10.00 \$10.00	\$0.00 \$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	80	\$3,597.16 \$3.617.77	\$0.00 \$0.00				
,617.77 ,638.37				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00 \$50.00	\$100.00 \$100.00		\$290.00 \$290.00			\$0.00		\$30.00 \$30.00	\$0	\$170.00 \$170.00	81 82	\$3,617.77	\$0.00				
,658.98				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	83	\$3,658.98	\$0.00				
,679.60				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00		\$290.00			\$0.00		\$30.00	\$0	\$170.00	84	\$3,679.60	\$0.00				
3,700.21				\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$50.00	\$100.00	\$10.00	\$290.00		\$10.00	\$0.00		\$30.00	\$0	\$170.00	85	\$3,700.21	\$0.00				
,720.83	3			\$0.00	\$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00	\$290.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	86	\$3,720.83	\$0.00				

SaamirA2 Q3 Benchmark Sheet Template - Prediction 4 (Big Baller)

87	\$3.741.46	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00 \$2	90.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	87	\$3,741,46	\$0.00	
	\$3,762.08	\$0.00 \$0.00		\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		90.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	88	\$3,762.08	\$0.00	
89	\$3.782.71	\$0.00 \$0.00		\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		90.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	89	\$3.782.71	\$0.00	
90	\$3,803.35	\$0.00 \$0.00		\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00 \$2	90.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	90	\$3,803.35	\$0.00	
91	\$3,823.98	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00 \$2	90.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	91	\$3,823.98	\$0.00	
92	\$3,844.62	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00 \$2	90.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	92	\$3,844.62	\$0.00	
93	\$3,865.27	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00 \$2	90.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	93	\$3,865.27	\$0.00	
94	\$3,885.92	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00 \$2	90.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	94	\$3,885.92	\$0.00	
95	\$3,906.57	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		90.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	95	\$3,906.57	\$0.00	
96	\$3,927.22	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00 \$2	90.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	96	\$3,927.22	\$0.00	
97	\$3,947.88	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00	\$10.00 \$2	90.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	97	\$3,947.88	\$0.00	
98	\$3,968.54	\$0.00 \$0.00	\$0.00	\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		90.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	98	\$3,968.54	\$0.00	
99	\$3,989.21	\$0.00 \$0.00		\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		90.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	99	\$3,989.21	\$0.00	
100	\$4,009.87	\$0.00 \$0.00		\$0.00	\$50.00	\$0.00	\$0.00	\$50.00	\$100.00		90.00	\$200.00	\$10.00	\$0.00	\$20.00	\$30.00	\$0	\$170.00	100	\$4,009.87	\$0.00	
	\$3,680.49	\$0.00 \$0.00		\$0.00	\$25.00	\$300.00	\$0.00	\$25.00	\$350.00	\$10.00 \$6		\$300.00	\$10.00	\$0.00	\$0.00	\$10.00	\$350	\$290.00	101	\$3,680.49	\$0.00	
	\$3,681.10	\$0.00 \$120,000.00	\$0.00	\$500.00		\$2,338.00	\$300.00	\$500.00	\$4,238.00	\$0.00 \$6,51		\$2,277.50		\$1,800.00		\$1,900.00	\$0	\$377.50	102	\$3,681.10	\$120,000.00	
	\$3,781.73	\$0.00 \$113,755.68	\$0.00	\$500.00		\$1,657.00	\$300.00	\$500.00	\$3,557.00	\$0.00 \$6,51		\$2,958.50		\$1,800.00		\$1,900.00	\$0	\$1,058.50	103	\$3,781.73	\$113,755.68	
104	\$3,882.38	\$0.00 \$107,746.15	\$0.00	\$500.00	\$600.00	\$1,657.00	\$300.00	\$500.00	\$3,557.00	\$0.00 \$6,51		\$2,958.50	\$0.00	\$1,800.00	\$100.00	\$1,900.00	\$0	\$1,058.50	104	\$3,882.38	\$107,746.15	
105	\$3,983.04	\$0.00 \$101,962.57	\$0.00	\$500.00	\$600.00		\$300.00		\$3,557.00	\$0.00 \$6,51		\$2,958.50	\$0.00	\$1,800.00	\$100.00	\$1,900.00	\$0	\$1,058.50	105	\$3,983.04	\$101,962.57	
106	\$4,083.72	\$0.00 \$96,396.46	\$0.00	\$500.00	\$600.00	\$1,657.00	\$300.00	\$500.00	\$3,557.00	\$0.00 \$6,51		\$2,958.50	\$0.00	\$1,800.00	\$100.00	\$1,900.00	\$0	\$1,058.50	106	\$4,083.72	\$96,396.46	
107	\$4,184.42	\$0.00 \$94,892.86	\$0.00	\$500.00	\$600.00	\$1,657.00	\$300.00	\$500.00	\$3,557.00	\$0.00 \$6,51		\$2,958.50	\$0.00	\$1,800.00	\$100.00	\$1,900.00	\$0	\$1,058.50	107	\$4,184.42	\$94,892.86	
108	\$4,285.13	\$0.00 \$93,384.55	\$0.00	\$500.00	\$600.00	\$1,657.00	\$300.00	\$500.00	\$3,557.00	\$0.00 \$6,51		\$2,958.50	\$0.00	\$1,800.00	\$100.00	\$1,900.00	\$0	\$1,058.50	108	\$4,285.13	\$93,384.55	
109	\$4,385.86	\$0.00 \$91,871.52	\$0.00	\$500.00	\$600.00	\$1,657.00	\$300.00	\$500.00	\$3,557.00	\$0.00 \$6,51	5.50	\$2,958.50	\$0.00	\$1,800.00	\$100.00	\$1,900.00	\$0	\$1,058.50	109	\$4,385.86	\$91,871.52	
110	\$4,486.61	\$0.00 \$90,353.74	\$0.00	\$500.00	\$600.00	\$1,657.00	\$300.00	\$500.00	\$3,557.00	\$0.00 \$6,51	5.50	\$2,958.50	\$0.00	\$1,800.00	\$100.00	\$1,900.00	\$0	\$1,058.50	110	\$4,486.61	\$90,353.74	
111	\$4,587.38	\$0.00 \$88,831.21	\$0.00	\$500.00	\$600.00	\$1,657.00	\$300.00	\$500.00	\$3,557.00	\$0.00 \$6,51	5.50 \$	\$2,958.50	\$0.00	\$1,800.00	\$100.00	\$1,900.00	\$0	\$1,058.50	111	\$4,587.38	\$88,831.21	
112	\$4,688.16	\$0.00 \$87,303.91	\$0.00	\$500.00	\$600.00	\$1,657.00	\$300.00	\$500.00	\$3,557.00	\$0.00 \$6,51	5.50 \$	\$2,958.50	\$0.00	\$1,800.00	\$100.00	\$1,900.00	\$0	\$1,058.50	112	\$4,688.16	\$87,303.91	
113	\$4,788.96	\$0.00 \$85,771.82	\$0.00	\$500.00	\$600.00	\$1,657.00	\$300.00	\$500.00	\$3,557.00	\$0.00 \$6,51	5.50 \$	\$2,958.50	\$0.00	\$1,800.00	\$100.00	\$1,900.00	\$0	\$1,058.50	113	\$4,788.96	\$85,771.82	
114	\$4,889.77	\$0.00 \$84,234.93	\$0.00	\$500.00	\$600.00	\$1,657.00	\$300.00	\$500.00	\$3,557.00	\$0.00 \$6,51	5.50	\$2,958.50	\$0.00	\$1,800.00	\$100.00	\$1,900.00	\$0	\$1,058.50	114	\$4,889.77	\$84,234.93	
115	\$4,990.60	\$0.00 \$82,693.23	\$0.00	\$500.00	\$600.00	\$1,657.00	\$300.00	\$500.00	\$3,557.00	\$0.00 \$6,51	5.50	\$2,958.50	\$0.00	\$1,800.00	\$100.00	\$1,900.00	\$0	\$1,058.50	115	\$4,990.60	\$82,693.23	
116	\$5,091.45	\$0.00 \$81,146.69	\$0.00	\$500.00	\$600.00	\$1,657.00	\$300.00	\$500.00	\$3,557.00	\$0.00 \$6,51	5.50 \$	\$2,958.50	\$0.00	\$1,800.00	\$100.00	\$1,900.00	\$0	\$1,058.50	116	\$5,091.45	\$81,146.69	
117	\$5,192.32	\$0.00 \$79,595.31	\$0.00	\$500.00	\$600.00	\$1,657.00	\$300.00	\$500.00	\$3,557.00	\$0.00 \$6,51	5.50 \$	\$2,958.50	\$0.00	\$1,800.00	\$100.00	\$1,900.00	\$0	\$1,058.50	117	\$5,192.32	\$79,595.31	
118	\$5,293.20	\$0.00 \$78,039.07	\$0.00	\$500.00	\$600.00	\$1,657.00	\$300.00		\$3,557.00	\$0.00 \$6,51	5.50 \$	\$2.958.50	\$0.00	\$1.800.00	\$100.00	\$1,900.00	\$0	\$1.058.50	118	\$5,293.20	\$78,039.07	
	\$5,394.10	\$0.00 \$76,477.95	\$0.00	\$500.00		\$1,657.00	\$300.00	\$500.00	\$3,557.00	\$0.00 \$6,51		\$2,958.50		\$1,800.00		\$1,900.00	\$0	\$1.058.50	119	\$5,394.10	\$76,477.95	
	\$5,495.01	\$0.00 \$74,911.94	\$0.00	\$500.00	\$600.00		\$300.00		\$3,557.00	\$0.00 \$6,51				\$1,800.00		\$1,900.00	\$0	\$1,058.50	120	\$5,495.01	\$74,911.94	
120		\$1.00 \$14,011.04	\$0.00	+=30.00		+ .,==00	+	+0.00	+=,=31.00	*****		+=,00	45.00	¥ .,==0.00	4.15.00	Ţ.,=50.00	50	\$1,000.00	120	\$2,.00.01	** ****	